REFER (R&ER (LHIRKR) )

| THETAT 4 | LXEH |
| #EERZ | 19:30 |
EA
EE) 5 = B
BELAFEEHR 10,601 A 11,949 X 22 550 A
REER 5,843 A 6,647 A 12,490 X
MR LEREEH 3,580 A 3,796 A 7,385 A
HBEAREEH 2,193 A 2,764 A 4,957 A
FHEEREER 61 A 87 A 148 A
ZIEER 4,758 A 5,302 A 10,060 A
RER 55.12 % 55.63 9% 55.39 %
E=5
EE) 5 = B
BELEHEEHR 12 A 11 A 23 A
REER 0 A 0 A 0 A
AR LEREEH 0 A 0 A 0 A
HBERREEH 0 A 0 A 0 A
THEEREEHN 0 A 0 A 0 A
ENNEREEHN 0 A 0 A 0 A
EEEREEHN 0 A 0 A 0 A
ZIEER 12 A 11 A 23 A
RER 0.00 % 0.00 % 0.00 %
B+ &5
E) E & 5
BELOHEEHR 10,613 A 11,960 A 22 513 A
REERK 5 843 A 6,647 A 12,490 A
ZIEEHN 4,770 A 5313 A 10,083 A
RER 55.06 % 55.58 9% 55.33 %




